



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{4} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{3}{5} = \frac{48}{5} = 9\frac{3}{5}$$

$$\left(\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{181}{5} = 36\frac{1}{5}$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{73}{36} = 2\frac{1}{36}$$

$$\left(\frac{1}{3}\right)^2 + \frac{3}{4} = \frac{31}{36}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{1}{2} = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{80}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{19}{4} = 4\frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{3}{4} = \frac{11}{2} = 5\frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{47}{18} = 2\frac{11}{18}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{6} = \left(-\frac{19}{150}\right)$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{6} = \frac{53}{18} = 2\frac{17}{18}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{43}{50}$$

$$\left(\frac{1}{6}\right)^2 + \frac{3}{4} = \frac{7}{9}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{49}{150}$$

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{1}{2} = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{3}{5} = \frac{17}{20}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{5}\right) = \frac{4}{25}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{4} = 6$$